
Two-Digit Facts

86 ÷ 1 = 51 ÷ 1 =
86 ÷ 10 = 51 ÷ 10 =
86 ÷ 100 = 51 ÷ 100 =
86 ÷ 1,000 = 51 ÷ 1,000 =
86 ÷ 10,000 = 51 ÷ 10,000 =

28 ÷ 1 = 98 ÷ 1 =
28 ÷ 10 = 98 ÷ 10 =
28 ÷ 100 = 98 ÷ 100 =
28 ÷ 1,000 = 98 ÷ 1,000 =
28 ÷ 10,000 = 98 ÷ 10,000 =

29 ÷ 1 = 29 ÷ 1 =
29 ÷ 10 = 29 ÷ 10 =
29 ÷ 100 = 29 ÷ 100 =
29 ÷ 1,000 = 29 ÷ 1,000 =
29 ÷ 10,000 = 29 ÷ 10,000 =

66 ÷ 1 = 31 ÷ 1 =
66 ÷ 10 = 31 ÷ 10 =
66 ÷ 100 = 31 ÷ 100 =
66 ÷ 1,000 = 31 ÷ 1,000 =
66 ÷ 10,000 = 31 ÷ 10,000 =

88 ÷ 1 = 403 ÷ 1 =
88 ÷ 10 = 403 ÷ 10 =
88 ÷ 100 = 403 ÷ 100 =
88 ÷ 1,000 = 403 ÷ 1,000 =
88 ÷ 10,000 = 403 ÷ 10,000 =
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Two-Digit Facts

86 ÷ 1 = 86 51 ÷ 1 = 51

86 ÷ 10 = 8.6 51 ÷ 10 = 5.1

86 ÷ 100 = 0.86 51 ÷ 100 = 0.51

86 ÷ 1,000 = 0.086 51 ÷ 1,000 = 0.051

86 ÷ 10,000 = 0.0086 51 ÷ 10,000 = 0.0051

28 ÷ 1 = 28 98 ÷ 1 = 98

28 ÷ 10 = 2.8 98 ÷ 10 = 9.8

28 ÷ 100 = 0.28 98 ÷ 100 = 0.98

28 ÷ 1,000 = 0.028 98 ÷ 1,000 = 0.098

28 ÷ 10,000 = 0.0028 98 ÷ 10,000 = 0.0098

29 ÷ 1 = 29 29 ÷ 1 = 29

29 ÷ 10 = 2.9 29 ÷ 10 = 2.9

29 ÷ 100 = 0.29 29 ÷ 100 = 0.29

29 ÷ 1,000 = 0.029 29 ÷ 1,000 = 0.029

29 ÷ 10,000 = 0.0029 29 ÷ 10,000 = 0.0029

66 ÷ 1 = 66 31 ÷ 1 = 31

66 ÷ 10 = 6.6 31 ÷ 10 = 3.1

66 ÷ 100 = 0.66 31 ÷ 100 = 0.31

66 ÷ 1,000 = 0.066 31 ÷ 1,000 = 0.031

66 ÷ 10,000 = 0.0066 31 ÷ 10,000 = 0.0031

88 ÷ 1 = 88 403 ÷ 1 = 403

88 ÷ 10 = 8.8 403 ÷ 10 = 40.3

88 ÷ 100 = 0.88 403 ÷ 100 = 4.03

88 ÷ 1,000 = 0.088 403 ÷ 1,000 = 0.403

88 ÷ 10,000 = 0.0088 403 ÷ 10,000 = 0.0403
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